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General Instructions:

a4 v sifard &)

All questions are compulsory.
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The question paper consists of 34 questions divided into four sections A, B, C and D. Section-
A comprises of 8 multiple choice questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each and Section-
D comprises of 11 questions of 4 marks each,

39 9 93 | = fawen = ¥
There is no overall choice in this question paper

Srergeret 1w A §

Use of calculator is not permitted.
@uz-31 / SECTION - A

W HEAT 1 § 8 ek Ueldh Uy 1 3w w1 ¥
Question numbers 1 to 8 carry 1 mark each.

S xy =180 SR HCF(x, y) =5 7, & LM{x, )  : 1
a) 90 (b) 18 / 36 A lidiy 5
If xy =180 and HCF {x, y) =S5, then LCM (. v)is:



taj 9 (L} 18 () 36 (d) 5

n]
// afe ‘o' AR b ey gl §, 99 oM 2 .
{a) a’ (b} v c)

axb (d) - 2
b
If ‘a” and b’ are prime numbers, then their LCM is -
@ o () ¥ Jf/cl axb (@ 2
b
X 2w st e v
(A)  uHm B @ (C @R (D)  u= =
Fhe maximum number of zeroes that a polynogial of degree 3 can have is :
(A) One (B) Two ) Three (D) None
/ mmw31'+5y=3;ﬁx+ky=3ﬁﬁ#ﬁ?ﬁ % -
(A) k=5 (B) k=10 (©) k=10 (D) k=5
The pair of linear equatighs 3x +5y=3 ; 6x+ky=8 do not have a solution if :
(4) k=5 ) k=10 C k=10 (&) k=5

f,/rri‘a AABC ~ APQR, AABC ¥ 9iWM=20 ¥, APQR &1 uUhiuN=40 TH o
PR=8 #4l 8, 91 AC & &aTE 2 -

(A) 8 (B) 6uH C) 4% (D) 5@
lfﬁABC~ﬂPQR,paﬂmeterofﬁﬁBC=2Dcxmperimeterﬂf&PQR=iﬂcmandFR=3m&tm
the length of AC is ;

8 cm (B) 6cm 9/ 4cm (D) Sem

(A)
/w&mﬁwmacﬁaﬂﬁmﬂzcniﬁﬂﬁmtfﬁmmmcm
£

(A) 1 (B) 2
(C) 187 (D) 1% aftms

1;’ is an acute angle in a right AABC, right angled at B, then the value of sinC + cosC is equal
tg':

@By 1 (B 2

(<) less than one (D)  greater than one

/ cos0° + cos 10° + cos®80° + cos® 0P FI TR & -
@ 2 e 8 @ o
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The value of cos™0° + cos 10° ;;?380” +cos 90° is -

Gy 2 By =1 1 d 0
' 2n GHEEAN, S HE H ol 8, & 9w 1
(A) n®@TE
(B) ~ (n+1)a W
/k{n}%ﬂﬁﬁm[n+lﬁﬁﬁmﬁl
D) [2ZllEiw
A i

| ; s : e
In an arranged series of an even number of 2n terms the median is :

[A) th term
(B) (n+1)" term
Mean of (n)t term and (n+ 1) term

PEEN
TTIL
(D) | J te

L%

WUS-¥ / SECTION - B

Y HEAT 9 § 14 9 Uedeh Wy 2 3ihi Wl &l
Question numbers 9 to 14 carry 2 marks each.

/oﬁ?bchsai‘ﬂLcmm: 19 3152 ¥ 1 4% o =389, & b 719 S| 2

HCF and LCM of o and b are 19 and 152 respectively. if =38, thenfind b.

Mﬁwﬁﬁm%ﬁﬁﬁ%wﬁﬁm o1 aegEl it It feenl < wHE 3x +y=9 2
R 7x+2y=20 A Frsfom &1 91 gorerl o0 99 T vl a5g = A g 9@ S
Two shopkeepers sell electronic goods of same kind. Their sales for two items are represented
by two equations. 3x+y=9 and 7x+2y=20. Find the sale price of each item by the two

shopkeepers.
1 + ax— 2, 2
// & Hifa ; 2y =y; == =T mgg p.S i
xy xy --_2; = \\j
3I+2y &Y
Solve : =1 — =13.
Ty xy _i. - 3"
8 B
....-.-._‘1/ = - 1_ 2
AABC H, #BAC=90° 3R ADLBC ¥ 1 T¥iis¢ f AD =BD xDC.
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@/ fix)=6x"+13x" = x =2 Wl g(x)=2x+1 ¥ HF F W WG B Fel HFTHE 3 I95a 76 Do |
Find the quotient and remainder on dividing f{x) =6x"+13x"—x—2 by gz) =2x+1.

1

-aged of 9

In AABC, ZBAC=190° and AD L BC. Show that AD2= BD x DC.

: 5 2
i sinA = ﬂ%", @ 2cot’A — 1 &1 HF T Hifag |
lEsinA = g tind the value of 2cot’A —1.
fr= sniepel 1 agers I wify 2
a1 (0-5 |5-10 [10-15 [15-20 [20-25 [25-30 [30-35
i BTG |7 (9 9 8 7 5
Find the mode of the following data :
Class : 0-5 |5-10 |10-15 [15-20 |20-25 |25-30 |30-35
Frequency: |7 9 9 8 7 3
EUE-H/SECTION - C
UY WEAT 15 § 24 Tk Wedeh W 3 31 HT ¢
Question numbers 15 to 24 carry 3 marks each.
fag Fifse & 2.5 +5 T s19foE w9 € 3

Prove that 2.3 +5 is an irrational number.

7l 37 F U & T R W A w7 ¥ SF % e 1 9 WE 93 W W 2 9eH W I e 3
e & g F GUeR 8 I & | 9 9 Hife

The sum of digits of a two-digit numbers is 7. If the digits are reversed, the new number

decreased by 2 equals twice the original number. Find the number.

3

TETE 2x” +4x” + 5x +7 Tl TGUG gx) § 9 37 W HITRS 91 IHE B AWM —5x A1 g(x) 3

A HifeT )

On dividing the polynomial 2x°+4x"+5x+7 by a polynomial g(x), the quotient and
remainder were 2x and 7 — 5x respectively. Find g(x).

el

modu =

dy +

S

.




19 a2 ©F =g4" % w0l us R = wurgw F wied € 61 fog St 75 98 gaeiE B
If the diagonals of a quadrilateral divide each other proportionally, prove that it is a

brapezium.

20 2 ; &fsr
<t ¢ sTpfa 9§ DE|BC# 14 DE: BC=3:5% 3 —_ (CADE) oo ogem

%?3}.(??@‘3 BCED }

B 2

. A
In the given figure, DE||BC. If DE : BC=3: 5, find — -+ ~DF)
ar{trap.BCED)

A

B e

i/ﬁwzngwaemamn 4 QU €1 75(sin’a + 2cos e — tana) T HH T8 FHSC
P

8 cmj 10cm
Q é6em R

In the given figure APQR, Q is right angled. Evaluate :
= ?S{Sinza +2cos o — tance)
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Height
| | (incm)

| X
| g
b A
Q 6em R
1 3 T ?rfs i x?‘] 3
A x=bsec 8 X y=atan 0 &, T [_] - (L7 e
b La
A 2
If x=b sec 0 and y=a tanjEll, find the value of [i]fa — [}LJ :
b a
T 711 1 1 SIS YIH I GREARe sied A9 1671 T ¢ 3
BTGl 1-3 4-6 7-9 10-12 13-15
(FRmH)
gfani = 9= | 25 22 52 45 16
T URER & 919 9TeA SE% YiH 96 RIS
The frequency distribution table of agricultural holdings in a village is given below :
Area 1-8 [4-6 T 10-12 13-15
(in hectares)
Number 25 22 52 45 16
of families
Find the Mean area held by a family.
ﬁmwﬁﬁ@m%%ﬁaﬁﬁ%waﬂaﬁ*ﬁﬁi{ﬂﬁﬂ)mﬁﬁf: 3
F=r (A F) 1:2 - | 142 - 144 | 144 - 146 | 146 - 148 | 148 - 150 | 150152 | 152- 154 | 154 - 156
fememferat =l :
: 4 6 9 12 9 7 3 5
[m

TN ] GG ST @1 U] I Y1 39 S i AT B
The following table gives the heights (in cm) of a group of 35 students in a class :

140
142

- | 142
144

- | 144
146

- | 146
148

150
152

MEF =
150

- 1152
154

- 154
156

|




4 & 9 12 5 7 3 5

L4
=4
£
(14
5
+

| Compute the modal height of the class and interpret the result.

@ue-g/SECTION-D

UYT WEAT 25 W 34 a6 Weieh U 4 3ehl T 61
Question numbers 25 to 34 carry 4 marks each.

Ej/eﬁzmmw,smmﬁmlumtmaﬁw&ﬁmaﬂ@ﬂﬁ%wﬁaﬁ@mmﬂ 4
\ fofg &t § 1| Wolw oTE, TR O @ Sfhe aus age 9e § fahies st 9 99 e w
2
(a) T FifaQ F w3 F0 ¥ w9 o =faed 5 d9
(b) ¥ el § Wafud Heg gEEe

6 retired teachers, 8 retired doctors and 10 retired defence officers are willing to render their
services to a village. Each of doctor, teacher and defence officer serves equal number of
different persons in that village.

(a) Find least number of persons served by each.

(b)  Suggest the value of services.

=N

freafafer iem e s b S W aR TR s fF wF e se @ sPs ga ST 9. 4

3x+dy=12

(a+bjx+2(a—bly=5—1

Find the values of a and b for which the following system of equation has infinitely many solutions :
3+ 4y=12

la+bix+2{a—bjy=5a—1

/ UIE BRI 86 DG : x—y=0; 2x+3y—30=0. 4
3 fagsil & THawis i I HIY STl 2%+ 3y — 30 =0 5 TR @ x-39e 91 y-338 i frewd §)
Solve graphically x—y=0; 2x+3y—30=0.
Also find the co-ordinates of points where the line represented by 2x+ 3y— 30 =0, meets axis
of x and y.

| 26" o e g 6 o 3 e < e ) 6 16 om 98 cm #1 B ¥ SR ER 6
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Sides other than the hypotenuse of a right triangle are of length 16 cm and
8 cm. Find the length of the side of the largest square that can be inscribed in the triangle.

y ofz T P 1 € o i et e A wiseSE e e, g e w2 el ol
it & wEY: WA £, 9 g wit i SR e e €1

Prove that if two sides and a median bisecting the third side of a triangle are respectively
proportional to the corresponding sides and the median of another triangle, then the two
triangles are similar.

PRSI G . | g e | |
V‘ﬁfmﬁﬁm; “‘B 2 L SR .

=3

tan —gae & +1 cos B
Bk ay B 1+ gin 8
Fiove that tan 5 1 1 sin
tan @ ~ sec® t 1 cos ?
/ : y . ! = 4
Mg = cosb + = sinf =1 Bag 2 sin® - L cost =1 tafagwifoufd —+ —=2
a b a b .
x y x y T
If — cos® * = sin® =1 and — sin® — = cos® “1,pruvethat—1+ i
a b a b a b
‘}/ & HITWIT : 4
4 o . 3
2 cot? 30° + 3 sin? 60° — 2 cosec? 60°— = tan? 30.
3 4

Evaluate : - cot? 30°+ 3 sin? 60°— 2 cosec? 60°— < tan? 30°,
3 4

@ ' P Tl 929 1 W1 53 B0 71 20 - 40 991 60 - 80 1 ARAREN f, A4 TD &1 TA A I

ﬁﬁﬂ{:
el 0-20 |20-40 |40-60 |60-80 |80-100 |3
FRERAL | 15 fi 21 f 17 100

The mean of the following frequency distribution is 53. But the frequencies fi and frin the classes 20 ~ 40
and 60 - 80 are missing. Find the missing frequencies :

Classes 0-20 |20-40 [40-60 |60-80 |80-100 | Total
Frequencies | 15 il 21 f2 17 100

@ Eﬂﬁﬁtmmamwmﬁﬁq: 4
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Zo=3a |7
Jo—45 131
45—-55 |33
so—bo |17
65—-75 |11
75-85 |1

Find the mean and median for the following data :
Classes | Frequency |

35-135 7
35—-45 3
45-55 |33 A
55-65 |17
65-75 |11
|75-85 |1
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